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13-FRIIY (Bif)

RS s MEeAL wanm | e | o0 g EREuE/MY
tigE ALIRH P RK E1EEHR BE 12 0.19] ( 0.036 ) ~ 0.62
dtimE ALIRT R RISTEBEHR il 12 0.19] ( 0.028 ) ~ 0.83
tigE =MV i) iE 12 0.080 0.050 ~ 0.13
JLiEiE Fr NERIER JRE 12 0.24, 0.035 ~ 0.60
HRR HEHEM ERRTR ihE 12 0.15 0.072 ~ 0.19
AEFR —m@m —ETERER A 12 0.11 0.049 ~ 0.29
BHE B TEKRR iEE BB 12 0.094 0.057 ~ 0.22
=R WEMRE HER e 12 0.15 0.035 ~ 0.82
T & AMEBHERHETRRER B 12 0.13[ ( < 0.003 ) ~ 0.22
AR #E™ BHRER ihE 12 0.061 0.012 ~ 0.20
AR e BFEHR i 12 0.085] ( 0018 ) ~ 0.19
[0 Wiz W FIWRB i 12 0.14f ( < 003 ) ~ 0.26
BERR [ BIFRSTE i 12 0.091 0.030 ~ 0.18
[EEES LhEH B E 12 0.17 0.056 ~ 0.64
FIR ESEE LA i 12 0.094] ( < 0017 ) ~ 0.14
AR FEET FHEBEHHIRIER A 12 0.12 0.078 ~ 0.23
HER R FRBEKR i 6 0.073 0.020 ~ 0.11
BER SWVEEHAER AR i 12 0.17 0.055 ~ 0.27
BER SWVEmER EESEFRAC] ihE 12 0.17 0.056 ~ 0.33
HER SWVEEHERE BREHIER AE 12 0.12 0.048 ~ 0.19
BER N NI RIE D ihE 12 0.13 0.064 ~ 0.23
HER naw No#REER i 12 0.20 0.082 ~ 0.41
BER AR nrRAER B3 12 0.13 0.046 ~ 0.38
BER Em EmmEEEHR 3 12 0.15[ ( 0.059 ) ~ 0.33
BER FHET FEEZKBHRB 12 0.16 0.069 ~ 0.36
FER FERPRR FEEm&KR () 12 0.14] ( < 0011 ) ~ 0.46
FER FERERINR EHEABBEHHETR 12 0.049] ( < 0.008 ) ~ 0.34
FER EHIE TN 12 0.15 0.079 ~ 0.23
FHER ot MBEOHB 12 0.13] ( 0.046 ) ~ 0.26
FER WA WFEERBR 12 0.22 0.083 ~ 0.48
FER wam TBRIER 12 0.13 0.063 ~ 0.24
FER #a KigrERER 12 0.16 0.04 ~ 0.46
R FRAX BLAXZERAIER 12 0.13 0.043 ~ 0.31
RRE IRR REEREFR 12 0.17 0.07 ~ 0.45
RRER PSS BLENMREEHERTAHER 12 0.38 0.058 ~ 16
RRE HEARK B/GEN/\HE LR 12 0.22 0.13 ~ 051
#ENR  |EETEFE WFREER 12 0.23 0.025 ~ 0.75
#wRNE |BEHTFER FERRRXEAR 12 0.16 0.1 ~ 0.21
HEIR FiEH HENEED 12 0.086 0.030 ~ 0.13
#wENE  |ERE BRIER 12 0.14 0.072 ~ 0.34
#RIE EXH [ER LR 12 0.084 0.039 ~ 0.13
[CEINT N PR T AHTRRERERD 12 0.13 0.087 ~ 0.21
HiBR FRHTHRE R#EB 12 0.051] ( 0019 ) ~ 0.14
iR RE® WEBHR 12 0.093] ( 0.027 ) ~ 0.18
AR Fam FARHTRER 6 0.038] ( < 0.009 ) ~ ( 0.067
BEHE wHM BHEHB 12 0.1 0.045 ~ 0.23
WER B FH BITEBHEHITAR 12 0.15 0.045 ~ 0.45
[TET) B RF EEEEEE V) 12 0.19 0.047 ~ 0.45
RER RHH BEER 12 0.12 0.042 ~ 0.25
RER HARH WEREXZERR 12 0.27 0.090 ~ 0.46
CETY CELH BAEEEIER 12 0.076 0.041 ~ 0.12
CEE e IR R AT 6 0.091 0.035 ~ 0.14
FER BT EKE BHMBAEER 12 0.12 0.050 ~ 0.21
FRfER EMTPR R-25T:8IE B 12 0.19 0.093 ~ 0.30
FER =Bt BH=ZBR 12 0.14 0.045 ~ 0.27
BHR AHEHILR ETFKERILEERBD 8 0.12 0.041 ~ 0.27
BHIR EEEHARX AEETEEERGS i 12 0.17 0.043 ~ 0.36
FHR 215h SHER BE 11 (0.0085)| ( < 0.005 ) ~ (< 0.04
BHIR &g BT A FERLEER i 12 0.096 0.047 ~ 0.17
FHIR ELLH SANTRASTE NiE 12 0.12 0.052 ~ 0.16
BHIR iR TRTT&AB i 12 0.10 0.062 ~ 0.20
FHIR BERRRR B AT REBBEHHAEER A 12 0.085 0.044 ~ 0.12
=ER e EE2358hE B 12 0.20 ( 0010 ) ~ 0.48
HER Ea BHERR ihE 12 0.18 0.12 ~ 0.24
REBRT REHPRE BHXER i 12 0.26 0.13 ~ 0.34
REBAF RERT LRI BHLTEE i 12 0.15 0.078 ~ 0.20
REBRT J\BETH EE15/H BB 12 0.11 0.070 ~ 0.24
REBRF ZANER K 1Lz BT EE1718/ i 12 0.078 0.040 ~ 0.16
KIRAF RIREE )R HRB/INERB il 12 0.27| ¢ < 0.004 ) ~ 1.9
KBRFF KBrTAER BEFER 12 0.17[ ( < 0.004 ) ~ 0.43
KIRAF RHREX FRERB 12 0.24 0.065 ~ 0.43
KBRFF EL TR 12 0.15 0.087 ~ 0.21
KWRAF W PEFEE R 12 0.20 0.074 ~ 0.33
KBRFF EiEh EERHERAR 12 0.1 0.069 ~ 0.15
KR AT SO RNIESRRE 12 0.15 0.053 ~ 0.23
KBRFF wAT BRE 12 0.16 0.075 ~ 0.27
KBRFF N AFER 12 0.17 0.069 ~ 0.33
KBRFF mam HER—ILIMBSRE 12 0.14 0.052 ~ 0.22
KBRFF EfEBR ERmERRXARRIER i 12 0.13 ( 0015 ) ~ 0.23
EER AP R EEEER ] i 12 0.090 0.044 ~ 0.16
EER [EE0 RENB FER 12 0.15 0.046 ~ 0.24
EER BEEM BYER i 12 0.11 0.048 ~ 0.19




13-FRIIY (Bif)

AR s AR wesm | e | O g EREUE/MD
EER wEH EHH i 12 0.11 0.062 ~ 0.16
EER FEh BINERR ihE 12 0.16 0.090 ~ 0.32
EER N i) i 12 0.22 0.17 ~ 0.35
=R =R BHERE AE 2 0.10 0.094 ~ 0.11
=R R BHERR i 12 0.14] ( 0.04 ) ~ 0.26
PR A A HHHE A HIE AR i 12 0.037) ¢ 0.007 ) ~ 0.18
CET) R REXZERB i 12 0.094 0.031 ~ 0.20
BERE KFH RFHRAAD AE 12 0.075 0.040 ~ 0.16
BiRR LT EEEEETS] i 11 0.073 0.020 ~ 0.15
FEI LI HE T SHT RERARAER RE 12 0.16 0.046 ~ 0.29
LBR LBEHER HAWEIRER B3 12 0.14 0.084 ~ 0.21
LBR A BR/NEERB nE 12 0.10 0.067 ~ 0.18
LBR ZRt ZREFED B 12 0.11f ¢ 0.028 ) ~ 0.42
LBR [T BULTRA i 12 0.14 0.089 ~ 0.29
EHR e BHEER il 12 0.090] ( 0.037 ) ~ 0.14
EEIR AT HER A 6 0.072] ( 0017 ) ~ 0.14
1BRmR JEAME/\BRR | FARETRIER i 12 0.14 0.082 ~ 0.21
(LS BETERX BHE A 12 0.11 0.049 ~ 0.17
2R R KEAT ERB BB 12 0.082 0.031 ~ 0.15
2R R EIIEEE ) FEEHR RE 12 0.062 0015 ~ 0.22
RIGR RiET RBTHREEDHEFHTARER i 6 0.23 0.17 ~ 0.27
RIER WET EEMSHRILITHEENRELNEERD AE 6 0.16] ( 0.039 ) ~ 0.31
RIGR EEEH EiE 345 R RIG R B RA B BIRRAT i 6 0.17 0.11 ~ 0.26
BAR REATT TKERTH i 12 0.13 0.045 ~ 0.22
BAR AT HIKAETH B 12 0.13 0.049 ~ 0.27
AR REATH R il 12 0.17 0.050 ~ 0.30
RERR I\t NRBHR BE 12 0.12 0.058 ~ 0.22
ROR Kot BREHHIAZTENER RE 12 0.15 0.072 ~ 0.25
AR Ko BREHRHITAPREER il 9 0.15 0.060 ~ 0.23
KPR BIFFH JLRP MR T BB 12 0.074] ( 0.010 ) ~ 0.15
BIR B BEEHR i 12 0.13 0.067 ~ 0.21
ERBR [|EEIRNT TEEE)IAR AE 6 0.10 0.053 ~ 0.15
ERER BRH BER ihE 6 0.079 0.053 ~ 0.11
ShER o WER RE 12 0.050 0.025 ~ 0.094
RR hET HAER ihE 12 o.10f ¢ 0.032 ) ~ 0.19
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ZILE 17K INGBIZR 'E@U TEEREE ) 0.046
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TREEEF (1 g/m3)
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0.15 ~ 2.0
( < 003 ) ~ 0.13
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